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Question Number : 51 Question Id : 540250821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




“Human Geography is the synthetic study of relationship between human societies and earth’s
surface”. Who said this ?

(1) Griffith Taylor
(2) Vidal de-la-Blache
(3) Ellen C. Semple
(4) Ratzel
Options:
5402503281. 1
5402503282. 2
5402503283. 3

5402503284. 4

Question Number : 51 Question Id : 540250821 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

5402503281. 1
5402503282. 2
5402503283. 3

5402503284. 4



Question Number : 52 Question Id : 540250822 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

School of Thought in Geography is concerned with the different aspects of social well
being of the people.
(1) Deterministic
(2) Humanistic
(3) Possibilistic
(4) Naturalistic
Options:
5402503285. 1
5402503286. 2
5402503287. 3

5402503288. 4
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Instruction Time : 0
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Comprehension MCQ
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Options :

5402503285. 1
5402503286. 2
5402503287. 3
5402503288. 4

Question Number : 53 Question Id : 540250823 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Military Geography is a sub-field of which field of Human Geography ?
(I)  Economic Geography

(2) Human Geography

(3) Political Geography

(4) Urban Geography

Options:

5402503289. 1

5402503290. 2

5402503291. 3

5402503292. 4

Question Number : 53 Question Id : 540250823 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503289. 1
5402503290. 2
5402503291. 3
5402503292. 4

Question Number : 54 Question Id : 540250824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Katanga Zambia copper belt is located in :
(1) Asia

(2) Africa

(3) Australia

(4) North America

Options:



5402503293. 1
5402503294. 2
5402503295. 3
5402503296. 4
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Comprehension MCQ
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Options :

5402503293. 1
5402503294. 2
5402503295. 3

5402503296. 4
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Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ




Which one of the following is the main cause of immigration in developed countries ?
(1) The climate is pleasant

() No interference from government

(3) The people are helpful

(4) Better job opportunities and better quality of life

Options:

5402503297. 1

5402503298. 2

5402503299. 3

5402503300. 4
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Correct Marks : 5 Wrong Marks : 1
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Options:

5402503297. 1
5402503298. 2
5402503299. 3
5402503300. 4

Question Number : 56 Question Id : 540250826 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The Demographic Transition Theory is used to
(1) Measure birth rate of any area

(2) Describe and predict the future population of any area
(3) Measure death rate of any area

(4) Explain emigration of any area
Options:

5402503301. 1

5402503302. 2

5402503303. 3

5402503304. 4
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5402503301. 1
5402503302. 2
5402503303. 3

5402503304. 4

Question Number : 57 Question Id : 540250827 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1
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Key Value

Comprehension MCQ

Which industry is NOT dependent on any specific raw material ?
(1) Cottage Industries

(2) Foot Loose Industries

(3) Manufacturing Industries

(4) Agro-based Industries

Options:

5402503305. 1

5402503306. 2

5402503307. 3

5402503308. 4

Question Number : 57 Question Id : 540250827 Question Type : MCQ Option Shuffling : No Is
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Options :

5402503305. 1
5402503306. 2
5402503307. 3

5402503308. 4

Question Number : 58 Question Id : 540250828 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Many people living in landlocked areas love to spend holidays along the beaches/sea. Which
factor of tourist attraction does this represent ?

(1) Landscape
() Art
(3) History
(4) Cultural
Options:
5402503309. 1
5402503310. 2
5402503311. 3

5402503312. 4



Question Number : 58 Question Id : 540250828 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options :

5402503309. 1
5402503310. 2
5402503311. 3
5402503312. 4
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The spacing between two rails of broad gauge is
(I) More than 1.5 meter

(2) Less than 1.5 meter

(3) More than 1.0 meter

(4) Less than 1.44 meter

Options:

5402503313. 1
5402503314. 2
5402503315. 3
5402503316. 4

Question Number : 59 Question Id : 540250829 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options :

5402503313. 1
5402503314. 2
5402503315. 3
5402503316. 4

Question Number : 60 Question Id : 540250830 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Aryabhat was launched in the year
(1) 1975

(2) 1979

(3) 1980

(4) 1981

Options:

5402503317. 1
5402503318. 2
5402503319. 3

5402503320. 4

Question Number : 60 Question Id : 540250830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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(2) 1979

(3) 1980

(4) 1981

Options:

5402503317. 1




5402503318. 2
5402503319. 3

5402503320. 4

Question Number : 61 Question Id : 540250831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

By supporting developing countries in setting up of capital intensive industries, the industrial
nations ensure

(1) Their monopoly

(2) Markets for their finished products

)

(3)  Export of minerals from developing countries
(4) Human welfare and ecological balance
Options:

5402503321. 1

5402503322. 2

5402503323. 3

5402503324. 4
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Options :

5402503321.1

5402503322. 2

5402503323. 3

5402503324. 4

Question Number : 62 Question Id : 540250832 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Key Value

Comprehension MCQ

Which city was the first urban settlement to reach a population of one million ?
(1) Paris

(2) New York
(3) Tokyo

(4) London
Options:
5402503325. 1
5402503326. 2
5402503327. 3

5402503328. 4

Question Number : 62 Question Id : 540250832 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options:

5402503325. 1
5402503326. 2
5402503327. 3
5402503328. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The most important problem faced by big cities due to increasing population is
(I) Migration towards rural areas

(2) Increase in slums and squatter settlement

(3) Decline in medical facilities i absolute sense

(4) Stagnation of per capita income

Options:



5402503329. 1
5402503330. 2
5402503331. 3
5402503332. 4

Question Number : 63 Question Id : 540250833 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 5 Wrong Marks : 1
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Options :

5402503329. 1
5402503330. 2
5402503331. 3

5402503332. 4

Question Number : 64 Question Id : 540250834 Question Type : MCQ Option Shuffling : No Is
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Which of the following statements about the definition of urban settlements by Census of India are
correct ?

(A) Al places which have municipality, corporation, cantonment board or notified town area
commuttee

(B) Minimum population of 5000 persons
(C) At least, 50 percent of male workers are engaged in non-agricultural pursuits
(D) A density of population of at least 400 persons per square kilometer

Choose the correct answer from the options given below :

1) (&) @) Con
2 ()60 0111\'

)

() (). (C), (D) only
(4 (A) (C), (D) only
Options :
5402503333. 1
5402503334. 2
5402503335. 3
5402503336. 4
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Options :

5402503333. 1
5402503334. 2
5402503335. 3
5402503336. 4

Question Number : 65 Question Id : 540250835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ




Which of the given points on History of International Trade are correct ?
(A) Inancient times trade was restricted to local markets
(B) The silk route is an example of long distance trade

(C) Industrialised nations started importing raw materials and exporting finished products
(D) Slave trade started after World War I

Choose the correct answer from the options given below

(1) (A), (), (D) only

@) () ®) (C) only
) (4),(C), (O] only
(& (8).(C) (D) only
Options:
5402503337. 1
5402503338. 2
5402503339. 3

5402503340. 4
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Options:

5402503337. 1
5402503338. 2
5402503339. 3

5402503340. 4
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Comprehension MCQ




Arrange the following technological developments in a chronological order.
(A) Information and Computers

(B) Development of Agriculture

(C) Sanitation and Medical

(D) Industrial Development

Choose the correct answer from the options given below :
(1) (D) B) (4)

(2) (D) (B), (C), (A)
() (B), (D) (A), ()
(4 (8), (D) (©) (4)
Options:

5402503341. 1
5402503342. 2
5402503343. 3

5402503344. 4

Question Number : 66 Question Id : 540250836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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(1) (D), (B), (A), (C)
(

(2) (D) (B), (O), (A)
(3) (B), (D) (A), (©)
(4)  (B), (D), (O), (A)
Options:

5402503341. 1
5402503342. 2
5402503343. 3
5402503344. 4
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Arrange the states in a descending order of population density as per 2011 census.
(A) Odisha

(B) Uttar Pradesh

(C) Bihar

(D) Mizoram

Choose the correct answer from the options given below :

) 6 © 0) @A)

(
(2 (©), B), (4). D)
3 (€, D) (B) (4)
(4 (8) (4), D) ©)
Options:

5402503345. 1
5402503346. 2
5402503347. 3

5402503348. 4
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Options:

5402503345. 1
5402503346. 2
5402503347. 3

5402503348. 4

Question Number : 68 Question Id : 540250838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the following approaches of Human Geography in a chronological order,
(A) Spatial Organisation

(B) Post-modernism

(C) Exploration and Description

(D) Areal Differentiation

Choose the correct answer from the options given below :
() ©) (€ (A) ©)

(2) (D) (©) (B), (4)
3 (©). D) (A), (B)
(4 (), D) (B), (4)
Options:

5402503349. 1
5402503350. 2
5402503351. 3

5402503352. 4
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Options:

5402503349. 1
5402503350. 2
5402503351. 3
5402503352. 4
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Match List - I with List - IL

List - I List - II
Pillars of Human Development Characteristics
(A) Equity ()  Power to make choices
(B) Sustainability (I) Equal access to opportunities
(C) Productivity (IT) Continuity in the availability
(D) Empowerment (IV) Better work efficiency

Choose the correct answer from the options given below :

(1) (AHIV), (B, (O)-([), (D)D)
, (B, (-, (D)1
IV

(2)  (AHIV) )
() (A)M(I), B)-(IV), (©-(1), (DI
(4) (A1), B)-{), (O-{LV), D))
Options:

5402503353. 1
5402503354. 2
5402503355. 3
5402503356. 4
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(1) (AHLV), (B)-(IL), (©)-(), (D)-(I1)
(2 (AHIV), (B)-(ID), (O)-(II), (D)-(I)
(3)  (A)-(D), (B)-V), (C)-(T), (D)-(II)
(4) (A0, (B)-, (CO-IV), (D)I)
Options:

5402503353. 1
5402503354. 2
5402503355. 3
5402503356. 4
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Match List - I with List - I1.

List -1 List - 11
(Approach) (Focus)
(A) Income Approach (I)  Focus on provision of basic needs
(B) Welfare Approach () Build human capabilities and access to resources
(C) Basic Needs Approach (II) Maximum expenditure on welfare
(D) Capability Approach (IV) Human development linked to income

Choose the correct answer from the options given below :

(1) (AMIV), (BHII), (C-), (D)-I)
() (AHIV). (BMID), (C1(), DM
() (AMI), (BITV), (CH(), (DI
(4) (AX{ID, (B)-{) (CHI), (DHIV)
Options:

5402503357. 1

5402503358. 2

5402503359. 3

5402503360. 4

Question Number : 70 Question Id : 540250840 Question Type : MCQ Option Shuffling : No Is
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(D) 4l SUTH (IV) W1l foers &1 379 § g 71
e feu U foed o B W S T
(1) (AMIV), (BHIH) (©-(1), (D)-(I
(2)  (AHIV), (B)-(I, (O)-(I), D))
(3) (A){Im), B V), (C-), (D)-(I)
(&) (A)-I0, B)-0, (©)-m, (D)-(IV)
Options:

5402503357. 1
5402503358. 2
5402503359. 3

5402503360. 4

Question Number : 71 Question Id : 540250841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




In which environment one can expect the presence of the clustered rural settlements ?

(

1)  Alluvial plains of Ganga River

(2)  On small hills with farms or pastures on the slope
)
)

(3) Ridges on the Himalayas

(4) Thick forest and Hills of North-EFast
Options:

5402503361. 1

5402503362. 2

5402503363 3

5402503364. 4

Question Number : 71 Question Id : 540250841 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fo & 9 ol wtoRn 8, o ek e TWn i ekt Stk o S o g 7

(1) 7M7) % el B

(2) Bl FeTE W & A 3] T AR
(3) femrem #t Frecit e

(4) o I P & G

Options:

5402503361. 1
5402503362. 2
5402503363. 3
5402503364. 4

Question Number : 72 Question Id : 540250842 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which one of the following is a cantonment town ?
(1) Ambala

(2) Raniganj

(3) Bhilal

(4) Jharia

Options:

5402503365. 1

5402503366. 2

5402503367. 3

5402503368. 4

Question Number : 72 Question Id : 540250842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

5 § ¥ F-91 BE TR T2
(1) ST=Ia

(2) AR

(3) fuar

(4) @i

Options:



5402503365. 1
5402503366. 2
5402503367. 3
5402503368. 4

Question Number : 73 Question Id : 540250843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which one of the following crops is grown in all three cropping seasons in southern states of India ?
(I) Maize

Options:

5402503369. 1
5402503370. 2
5402503371. 3

5402503372. 4

Question Number : 73 Question Id : 540250843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




i1 0 SI-1 He, IR  <feolt o gl i et Wi | S S € ?
(L) H

(2) R
(3) e
o
Options :
5402503369. 1
5402503370. 2
5402503371. 3
5402503372. 4

Question Number : 74 Question Id : 540250844 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

[n which of the following river basins, the replenishable utilization of water is the highest ?
() Tapi

() Narmada

(3) Krishna

(4) Mahanadi

Options:

5402503373. 1

5402503374. 2

5402503375. 3

5402503376. 4

Question Number : 74 Question Id : 540250844 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

frreferfad # § forelt 71 92 W, St 1 G-l SyEnT stfeedn 7 2
(1)

@ T
(3) ¥
(4) Rl
Options:

5402503373. 1
5402503374. 2
5402503375. 3

5402503376. 4

Question Number : 75 Question Id : 540250845 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which water development projects is sponsored by Central Government ?
(1) Johad scheme

(2)  Arvary Pani Sansad
(3) Neeru Meeru
(4) Haryali

Options:



5402503377. 1
5402503378. 2
5402503379. 3

5402503380. 4

Question Number : 75 Question Id : 540250845 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
=1 H 9 FF-91 S fosrr giEsT o §ehR g1 T § 2
(1) eSS
(2) SRl UF HEg
(3) & - H®
(4) s
Options :

5402503377. 1
5402503378. 2
5402503379. 3

5402503380. 4

Question Number : 76 Question Id : 540250846 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which one of the following is a metallic mineral ?
(1) Copper

(2) Limestone

(3) Mica

(4) Graphite

Options:

5402503381. 1

5402503382. 2

5402503383. 3

5402503384. 4

Question Number : 76 Question Id : 540250846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Firer 8 § -1 u1g W R 2
(1) i

(2) EEER ()

(3) &Yh

(4) UTEE

Options :

5402503381. 1
5402503382. 2
5402503383. 3

5402503384. 4

Question Number : 77 Question Id : 540250847 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The Petrofils Cooperative Limited (PCL), a joint venture of Government of India and Weaver's
Cooperative plant is located at -

(1) Pmjore
(2) Vadodara
(3) Lucknow
(4) Jodhpur
Options:
5402503385. 1
5402503386. 2
5402503387. 3

5402503388. 4

Question Number : 77 Question Id : 540250847 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

it Fiauied feftee (PCL) TR FEerm 9 St Jeml 1 S ShH, Hopl it

(1) fisk
D) T
3 T
) S



Options:

5402503385. 1
5402503386. 2
5402503387. 3
5402503388. 4

Question Number : 78 Question Id : 540250848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The National Highways Authority of India was operationalised in

(1) 1995
(2) 1993
(3) 1992
(4) 1990
Options:

5402503389. 1
5402503390. 2
5402503391. 3

5402503392. 4

Question Number : 78 Question Id : 540250848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




TR T R WIfeeheor ShRisiicl g o |

(1) 1995
(2) 1993
(3) 1992
(4) 1990
Options:

5402503389. 1
5402503390. 2
5402503391. 3

5402503392. 4

Question Number : 79 Question Id : 540250849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The roads laid along international boundaries are known as
(1) National Roads

(2) Border Roads

(3) Military Roads

(4) Undulating Roads
Options:

5402503393. 1
5402503394. 2
5402503395. 3
5402503396. 4

Question Number : 79 Question Id : 540250849 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
e S ST el % W o O E vy
(1) T g
@ e
CREEEE
(4) R T
Options :

5402503393. 1
5402503394. 2
5402503395. 3

5402503396. 4

Question Number : 80 Question Id : 540250850 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The Indian Railways is divided into how many zones ?
() 9

(2) 12
(3) 16
(4) 21

Options:

5402503397. 1



5402503398. 2
5402503399. 3

5402503400. 4

Question Number : 80 Question Id : 540250850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

YR Yed f= § | fohad wEal | avfiehd @ 2
(H 9

(2) 12

(3) 16

(4) 21

Options:

5402503397. 1
5402503398. 2
5402503399. 3
5402503400. 4

Question Number : 81 Question Id : 540250851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which one is NOT a cause of water pollution ?
(1) Urbanisation

(2) Landslides

(3) Rainfall

(4) Industrialisation

Options:

5402503401. 1

5402503402. 2

5402503403. 3

5402503404. 4

Question Number : 81 Question Id : 540250851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

19 H 9§ $HH-91 STl YgH01 H hRF el @ 7
(1) TR

VAR (SCIE|

(3) amigfe

(4) SRR
Options:

5402503401. 1
5402503402. 2
5402503403. 3

5402503404. 4

Question Number : 82 Question Id : 540250852 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Slums are inhabited by which of the following ?
(1) Well-off people

(2) Higher-middle class

(3) Middle class

(4) Lower income people

Options:

5402503405. 1

5402503406. 2
5402503407. 3

5402503408. 4

Question Number : 82 Question Id : 540250852 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

o / gl o eTenfaa, e H 9 A 2
(1) &= =Afer

(2) SH-HHH G
(3) HeEH =
(4) T g =t

Options:




5402503405. 1
5402503406. 2
5402503407. 3
5402503408. 4

Question Number : 83 Question Id : 540250853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Arramge the following river basins according to their area in a descending order,
(A) Mahanadi basin

(B) Tapi basin

(C) Ganga basin

(D) Godavari basin

Choose the correct answer from the options given below :
(1) (C), D) (B), ()

) (©), (D), (A), (B)
) (©). (A), D), (B)
4 (©. (@A), ®) D)
Options:
5402503409. 1
5402503410. 2
5402503411. 3

5402503412. 4

Question Number : 83 Question Id : 540250853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fefeifiaa a1 ofeel 21 3o 451 o SR STl W / 512 U H oFafeed i |
(A) W& e

(B) M afi

(C) e

(D) e e

i feT T foped] H 4 W& ST 1 T i
(1) (©), D) (B), (A)

2 (©, D) (A)(B)

(3) (), A) D). (B)

(4 (© (A) (), D)
Options :

5402503409. 1
5402503410. 2
5402503411.3

5402503412. 4

Question Number : 84 Question Id : 540250854 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the given historical developments in radio broadcasting in India in a chronological order.
(A) Akashwani

(B) Al India Radio

(C) Radio broadcasting brought under the Indian broadcasting system

(D) Radio broadcasting started

Choose the correct answer from the options given below :

() (O)B)C) A

2 0) € (8) (A
() (D) (&) )
4 (O @) (0
Options:
5402503413. 1
5402503414. 2
5402503415. 3

5402503416. 4

Question Number : 84 Question Id : 540250854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




WA | el R o Ufderi e ol SHIesmaITER Tafed Hifs |
(A)  SArRTETIl

(B) &iet Zfem e

(C) A JHRul 1 HRAT FER0 YOleil < SHqid o

(D) edl JERY &l e

A fe U foehedl § § W& 3T 1 =9 i :

(1) (D) (B), (O), (A)

(2) (D)
(3) (D)f
(4) (D)
Options :
5402503413. 1
5402503414. 2
5402503415. 3
5402503416. 4

Question Number : 85 Question Id : 540250855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which of the following characteristics of rainwater harvesting are correct ?
(A) Itisa method to capture and store rainwater

(B) Itis complicated and requires huge finances

(C) Itis an eco-friendly technique

(D) It can be done by harvesting rainwater on rooftops and open spaces
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

A), (C) and (D) Only

Options:

5402503417. 1
5402503418. 2
5402503419. 3

5402503420. 4

Question Number : 85 Question Id : 540250855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




91 et Guew % Freferfea fadmaed § 9 w9 e § 2

(A) I% 91 ST I THE T HUgw i T fafu &

(B) e Sfedt aul Sienfaes fod & Savgedl arel §

(C) % U yaiawe s areft qeheites &

(D) 9% Sl a0 Gl T T sl S IR e okt ol Hehell ¢
= feu T foshed] | | WE W HT I it

(4)
Options:
5402503417. 1
5402503418. 2
5402503419. 3

5402503420. 4

Question Number : 86 Question Id : 540250856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which of the follow ing causes of establishing Iron and Steel Industries in West Bengal, Odisha and
Jharkhand are correct ?

(A) Availability of water from rivers

(B) Availablity of high grade iron ore

(C)  Availability of forest resources

(D) Availabiity of coal for fuel in the proximity
Choose the correct answer from the options given below
() (4)(8) () Only

(2 (A) () Onl)
8 @O )
(4 () (C) (D) On
Options:
5402503421. 1
5402503422. 2
5402503423. 3

5402503424. 4

Question Number : 86 Question Id : 540250856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503421. 1
5402503422. 2
5402503423. 3
5402503424. 4

Question Number : 87 Question Id : 540250857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which of the following points about roles and responsibilities of Border Road Organisation are
correct ?

(A) Construction of roads in high altitude areas

(B) Maintenance of roads in strategically sensitive areas
(C) Snow clearance from high altitude roads

(D) Maintenance of rural roads in plain areas

Choose the correct answer from the options given below

(1) (&) (B), (D) Only

(2 (4, €, O] Only
() () (C) (D) Only
(&) (4), (B) (C) Only
Options:

5402503425. 1
5402503426. 2
5402503427. 3
5402503428. 4

Question Number : 87 Question Id : 540250857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503425. 1
5402503426. 2
5402503427. 3

5402503428. 4

Question Number : 88 Question Id : 540250858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match the Industry type and basis on which it is (how it is) classified
List - I List - 11
Basis of Classification Category
(A) Ownership ()  Consumer goods
(B) Capital investment (I) Mineral based
(C) Use of their products (
(

D) Raw materials used by them (IV) Cottage industry

IIT) Private sector

Choose the correct answer from the options given below :

(1) (A, (B)-(1), (O)-(I), (D}IV)

(2) (A, B1V), (O-1), (D)-)
(3 (A, (B)-(ID), (C)-(Iv), D)-(I)
(4) (A, B}, (O)-1), (DHIV)
Options:

5402503429. 1
5402503430. 2
5402503431. 3

5402503432. 4

Question Number : 88 Question Id : 540250858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




FERT % YR I I TR0 o feae § Fafad #

FTTeRT0T ST SN G
(A) w@fHe () SYHERI S&qU
(B) Ysit fram () @ffst smerfia
(C) 3k ITGH 1 FAMT (1) it &
(D) ek g = Hed YA fehall ST (IV) R @M
A feu T faehedl § § Wet ST 1 997 it ;
(1) (A0, (B)-1), (O-(I), (D)-(IV)
(2)  (A)-(Im), (B)-IV), (C)-(I), (D)-(IT)
(3)  (A)-Im), (B)<ID), (O-IV), (D)-1)
(4)  (A)-Im), (B)<ID, (O-(1), (D)-(IV)
Options:

5402503429. 1
5402503430. 2
5402503431. 3
5402503432. 4

Question Number : 89 Question Id : 540250859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - II :

List - 1 List - II
Ports States
(A) Ennore (I)  Odisha
(B) Paradwip (I) Tamil Nadu
(C) Kandla (Ill) Kerala
Kochchi IV) Gujarat
]

Choose the correct answer from the options given below :
(1) (A, (B)-0), (O-(L), (D}-(IV)

(2) (A1), (B)-1), (O-V), (D)-(I)

(3 (A)-(D), B)-aV), (O-(), (D))

(4 (A1), (B)-1V), (O-(), (D))

Options:

5402503433. 1

5402503434. 2

5402503435. 3

5402503436. 4

Question Number : 89 Question Id : 540250859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(A) TR O <[
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(1) (A)-1D, B)-(D), (O)-( )( )-(IV)

(2)  (A)-(D), (B)-(D), (O)-(IV), (D)-(I1)

(3)  (A)-(1D, (B)-IV), (O)-(D), (D)-(I1T)

(49 (A)-ID, (B)-IV), (O-(I), (D)-(I)

Options:

5402503433. 1
5402503434. 2
5402503435. 3
5402503436. 4

Question Number : 90 Question Id : 540250860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - II :

List -1 List - IT
Pollution Types Sources of Pollution
(A) Air Pollution ()  Use of pesticides
(B) Water Pollution (II) Advertising media
(C) Land Pollution (II) Combustion of coal
(D) Noise Pollution (IV) Effluents from industries

Choose the correct answer from the options given below

(1) (A)H(D), B}, CHIV), (D)-(I)

() (A)M1D, B)-(1V), (O)-(1), (D)-(IL)
() (AL, BHIV), (1), (D)-(1)
(4)  (A-IV), (B)-(I), (C)-(ID), D)D)
Options :

5402503437. 1
5402503438. 2
5402503439. 3
5402503440. 4

Question Number : 90 Question Id : 540250860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Read the given passage and answer following question
Concept of High Technology Industry

High technology, or simply high-tech, is the latest generation of manufacturing activities, It
is best understood as the application of intensive research and development (R and D) efforts
leading to the manufacture of products of an advanced scientific and engineering character.
Professional (white collar) workers make up a large share of the total workforce, These highly
skilled specialists greatly outnumber the actual production (blue collar) workers. Robotics on the
assembly line, computer-aided design (CAD) and manufacturing, electronic controls of smelting
and refining processes, and the constant development of new chemical and pharmaceutical
products are notable examples of a high-tech industry.

Neatly spaced, low, modern, dispersed, office-plant-lab buildings rather than massive
assembly structures, factories and storage areas mark the high-tech industrial landscape. Planned
business parks for high-tech start-ups have become part of regional and local development schemes,

High-tech industries which are regionally concentrated, selt-sustained and highly specialised
are called technopolies. The Silicon Valley near San Francisco and Silicon Forest near Seattle are
examples of technopolies. Are some technopolies developing in India ?

High Technology Manufacturing Industries are exampleof .
(1)  Primary Activities

(2) Secondary Activities

(3) Tertiary Activities

(4) Quaternary Activities
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Read the given passage and answer following question
Concept of High Technology Industry

High technology, or simply high-tech, is the latest generation of manufacturing activities. It
is best understood as the application of intensive research and development (R and D) efforts
leading to the manufacture of products of an advanced scientific and engineering character.
Professional (white collar) workers make up a large share of the total workforce, These highly
skilled specialists greatly outnumber the actual production (blue collar) workers. Robotics on the
assembly line, computer-aided design (CAD) and manufacturing, electronic controls of smelting
and refining processes, and the constant development of new chemical and pharmaceutical
products are notable examples of a high-tech industry.

Neatly spaced, low, modern, dispersed, office-plant-lab buildings rather than massive
assembly structures, factories and storage areas mark the high-tech industrial landscape. Planned
business parks for high-tech start-ups have become part of regional and local development schemes.

High-tech industries which are regionally concentrated, selt-sustained and highly specialised
are called technopolies. The Silicon Valley near San Francisco and Silicon Forest near Seattle are
examples of technopolies. Are some technopolies developing in India ?

Manufacturing of advanced scientific products is possible with the application of :
(1) Research and development

(2) Retrofitting

(3) Traditional techniques
(4)  More unskilled workforce
Options:
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Read the given passage and answer following question
Concept of High Technology Industry

High technology, or simply high-tech, is the latest generation of manufacturing activities, It
is best understood as the application of intensive research and development (R and D) efforts
leading to the manufacture of products of an advanced scientific and engineering character.
Professional (white collar) workers make up a large share of the total workforce. These highly
skilled specialists greatly outnumber the actual production (blue collar) workers. Robotics on the
assembly line, computer-aided design (CAD) and manufacturing, electronic controls of smelting
and refining processes, and the constant development of new chemical and pharmaceutical
products are notable examples of a high-tech industry.

Neatly spaced, low, modern, dispersed, oftice-plant-lab buildings rather than massive
assembly structures, factories and storage areas mark the high-tech industrial landscape. Planned
business parks for high-tech start-ups have become part of regional and local development schemes.

High-tech industries which are regionally concentrated, selt-sustained and highly specialised
are called technopolies. The Silicon Valley near San Francisco and Silicon Forest near Seattle are
examples of technopolies. Are some technopolies developing in India ?

Which workers make up large share of the total workforce in these industries ?
() Blue collar

(2) White collar

(3) Gold collar

(4)  Pink collar
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Read the given passage and answer following question
Concept of High Technology Industry

High technology, or simply high-tech, is the latest generation of manufacturing activities, It
is best understood as the application of intensive research and development (R and D) efforts
leading to the manufacture of products of an advanced scientific and engineering character.
Professional (white collar) workers make up a large share of the total workforce. These highly
skilled specialists greatly outnumber the actual production (blue collar) workers. Robotics on the
assembly line, computer-aided design (CAD) and manufacturing, electronic controls of smelting
and refining processes, and the constant development of new chemical and pharmaceutical
products are notable examples of a high-tech industry.

Neatly spaced, low, modern, dispersed, oftice-plant-lab buildings rather than massive
assembly structures, factories and storage areas mark the high-tech industrial landscape. Planned
business parks for high-tech start-ups have become part of regional and local development schemes.

High-tech industries which are regionally concentrated, self-sustained and highly specialised
are called technopolies. The Silicon Valley near San Francisco and Silicon Forest near Seattle are
examples of technopolies. Are some technopolies developing in India ?

Which of the following is NOT an example of high tech industry ?
(I)  Robotics

(2) Pharmaceutical products

(3)  Paper industry

(4)  Computer Aided Designs

Options:
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Read the given passage and answer following question
Concept of High Technology Industry

High technology, or simply high-tech, is the latest generation of manufacturing activities, It
is best understood as the application of intensive research and development (R and D) efforts
leading to the manufacture of products of an advanced scientific and engineering character.
Professional (white collar) workers make up a large share of the total workforce. These highly
skilled specialists greatly outnumber the actual production (blue collar) workers. Robotics on the
assembly line, computer-aided design (CAD) and manufacturing, electronic controls of smelting
and refining processes, and the constant development of new chemical and pharmaceutical
products are notable examples of a high-tech industry.

Neatly spaced, low, modern, dispersed, office-plant-lab buildings rather than massive
assembly structures, factories and storage areas mark the high-tech industrial landscape. Planned
business parks for hightech start-ups have become part of regional and local development schemes,

High-tech industries which are regionally concentrated, self-sustained and highly specialised
are called technopolies. The Silicon Valley near San Francisco and Silicon Forest near Seattle are
examples of technopolies. Are some technopolies developing in India ?

Regionally concentrated, self sustained and highly specialised High Tech Industries are known as

(1) Technopolies

(2)  Foot Loose Industries
(3) Megalopolis

(4 Conurbation
Options:
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Study the given diagram and answer the following question.

ﬁ Work Employment ﬂj: Blislness E Vork Employment [ Business
s i

18 Edueation [ﬂ]]n-la;ﬂage ] Education ﬂ]]:ﬂ Marriage
fﬂmm after Bith Emm with Household. Moved after Birth g Moves! with Household

Others

Reasons for Male Migration by Last Reasons for Female Migration by lost
Residence, Indie, 2011 Residence India, 2011

Which is the leading cause of male migration in India ?
() Marriage

(2) Bustness

(3) Education

4

Options:

Work employment
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5402503462. 2
5402503463. 3

5402503464. 4

Question Number : 96 Question Id : 540250866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




el fe 0 o it AT wign @ et & v St

g i B o [l
[l waemam B vonsmuam | AT WS
ER l ki

o P et T =T e
g, 2011 T

I H 0 Y 6 i -

() fooe

(2

(3 foe

CEREL

Options:

5402503461. 1
5402503462. 2
5402503463. 3

5402503464. 4

Question Number : 97 Question Id : 540250867 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension

Comp2

Study the given diagram and answer the following question.

[ﬂ]'ﬂmmgt
E Vv aftr Bt |5 Moved with Howsehokd

[}Lhers

E Wark E:ﬂplnymtnt ' Business
MW

Reasons for Male Migration by Lest
Residence, Iidie, 2011

Reasans fer Female HMigration by last
Residence India, 2011

Which is the leading cause of female migration in India ?

(I) Education
(2) Bustness
(3) Marriage
0

Options:

Work employment
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Study the given diagram and answer the following question.

B6%

Ewﬂm Employment Emmtss
@E{lumtm [[[]]Mamge

i1 Cthers

£ e ater Bt [ oved it Househol

E Work Employment &8 Business

u]ﬂ Marriage
Moved atter Birth E Moved with Houseald

i Others

Reasons for Male Migration by Last
Residence, Indig, 2011

The diagram used to represent the relative share of reasons of migration is know as ;

(1) Percentage bar diagram

(J) Pie diagram

(3) Proportional circle diagram
(4)  Flow diagram

Options :
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Study the given diagram and answer the following question.

Ewark Employment g .sg Bisiness

ﬁ Education lﬂ]] Marrlage i HI[H Marriage
EE oved ater it oved it Househld| | ] Mo afer Birth 5 Mo with Fousehol

) Others 1 o
Reasons for Male Migration by Last Reasons for Female Migration by last
Residence, Indig, 2012 Residence India, 2011

Which one of the following represents the percentage share of male migration due to education
1eason !

0 2%
(2) 34%
B 1%
@) 14%
Options :
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Study the given diagram and answer the following question.

Bt

E Wark Employment :
[

ﬁ Education m Marrage i1 Education u]ﬂ Marriage
% ioved eher Birth 5 lved th Hosehoks| | ] Woved ater Binth 5 Moo st Fousehld

. Gther& i1 Orhers
Reqsons _lhr Hale Migration. by Last Reasans for Female Migration by last
Residence, India, 2011 Residence India, 2011

The percentage share for different reasons of female migration is calculated by dividing number of
associated female migrants with

(1) Total population of India

(2) Total female population
(3)  Total female migrants of India
(4)  Total migrants of India
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